U.S. Departm of Transportat Federal Aviati	ion Ion	THOUSE RESIDENCE	R REPAIR AND	13.5			tion change to assure (	11/30/20	proved 2120-0020 Electronic Tracking Number 2007 For FAA Use Only		
instructions	IONS: Pri	int or type all entrie sition of this form. S. C. §46301(a))	s. See Tilte 14 CFR §4 This report is required b	3.9, Pa by law	art 43 Appe (49 U.S.C.	endix B, and AC 4 §44701). Failure	3.9-1 (or subs	equent r result in	evision thereof) for a civil penalty for each		
177	2 0 4 8	y and Registration M	lark aeu Aau	1		Serial No. 1801					
Aircraft	Make CIRRU	N855CD STEM FOR CIRR	<del>L - E<sup>R</sup>), and Rajid e<sup>R</sup>.</del> BERINGER BRAKE SY	ЭНТ				Serie G1	WINSTALLATION OF STC-OVER		
. Owner	Name (As shown on registration certificate) BRADLEY BOWERS					AOVED THE FOLLOWING (etaplitation on registration on registration) of the following of the following of the following of the form mill, setting, wheel brake or indeed on the following of the fo					
			RDERS.		For FAA L		O NETERIN :	DAHal	ILOT & COPILOT BRAKE LINE EMOVED BRAKE LINES FROM		
								NLG W (A), SEI (R)	STALED THE FOLLOWING ITE LO TIRE PN: (TUBLES TYPE), O AZLE AV-CIRR-003(4), ARING BRACER AV-CIRR-004 B RT 14 G TIRES (GOOD YEAR) ON WHEEL ASSY RE 006(A), ON WHEEL AXLE AV-CIRR-00		
4. Тур	е			5. U	nit Identifi	ication	/055 001		LAKE ASSY EA-DOS,4N(6), NUO 2001 MID 2002		
Repair /	Alteration	Unit	Make			Model			Serial No. 03 TUM BL		
	X	AIRFRAME				(As described in Item 1 abo			AKE LINES AV-CIKR-DOLL. VANC TERRE DITOLER COUDS		
		POWERPLANT				(A)	IS MP-001 21	ลลุดหม	RVICED TIRES TO 100 PSI LOT & COPILOT MASTER CM		
		PROPELLER		7-001.4 (1 EA),			OM MASTER CYLINDER BRAKE LINES AV-CIRR-D				
		APPLIANCE	TYPE (SEA) SEA). AVEC (SEA). AVEC (SEA). TYPE (SEA). T			CYLINDER BRA ER BRAKE LINE HYD-006P,	TER CYLING 3 AGAPTER	EAM ET	LOT MASTER CYLINDER TO L FOM RESERVIOR TO COPILO RAKE REGULATOR RE-2011 EGULATOR PIXING PLATE P		
				6. C	onformity	Statement	6.00	n Destru	The state of the s		
Agency's I	Name and	Address		В.	Kind of Ag	ency MINARAG OT	FGULATOR		ZAKE HUES AVOIRREDOLDE		
OO TOWE	R DR A	THE RESERVE AND ADDRESS OF THE PERSON NAMED IN	.c	X	U. S. Certified Mechanic C. Certificate No.			icate No.00-GYH STJOE OUNA			
REENVIL SA	LE SC	29607	EAKS.	Certified Repair Station  Certified Maintenance Organization			S172678 MINOSTIGMOD GEMEROTES				
have bee	n made in	accordance with t	n made to the unit(s) ide he requirements of Part the best of my knowled	43 of t	in item 5 a the U.S.F	above and describederal Aviation Re	ed on the reve egulations and	erse or a that the	ttachments hereto		
xtended rang er 14 CFR Pa	je fuel		ture/Date of Authorized Ind						BRIAN KEITH WEND 16-May-201		
рр. В						to Service	Section 1				
ursuant to dministrato	the author of the f	ority given persons Federal Aviation A	s specified below, the dministration and is	unit id	dentified in	item 5 was ins proved	Rejected				
100	A Flt. Stand pector	lards Man	ufacturer	Mainte	enance Orga	ar in the second	Departme	Approved ent of Tra	by Canadian nsport		
FA	A Designee	Rep	air Station X	Inspec	ction Authoriz		Other (Specify)				
certificate or designation 3384163		Signa	ature/Date of Authorized Inc						DOUGLAS DUNCAN 16-May-2017		
FAA Form	337 (10-06	)	TACHED	RE AT	невть А	ABDITIONAL S			A Form 337 (10:06)		

## NOTICE

Weight and balance or operating limitation changes shall be entered in the appropriate aircraft record. An alteration must be compatible with all previous alterations to assure continued conformity with the applicable airworthiness requirements.

(If more space is required, attach additional sheets. Idea	nury with aircraft nationalit	y and registration ma	rk and date work comp	leted.)	ns and dis	structio
	Sanalivo.  1801	USA	N855CD noted sign		(%) .nois	loly dai
C/W INSTALLATION OF STC-004 (REV 2) SN: FO-20 SR22T.	0170214-10,INSTALTION	Nationality ar	nd Registration Mark R BRAKE SYSTEM FO	R CIRRUS	Date SR20, S	161071A R22,
REMOVED THE FOLLOWING ITEMS. *LT & RT TIRE, WHEEL, BRAKE, WHEEL BRAKE LIN	Address(As shann 110 IBIXA,BN PORT MILL 29715 USA		on registration certificate)		Name BRA	19лууО
NSTALED THE FOLLOWING ITEMS: NLG TIRE PN: (TUBLES TYPE), NLG WHEEL ASSY NLG AXLE AV-CIRR-003(A), BEARING SPACER AV-CIRR-004(A), SERVICED TIRE LT & RT MLG TIRES (GOODYEAR) B3032 WHEEL ASSY RF-006(A), IAIN WHEEL AXLE AV-CIRR-002(A) RAKE ASSY EA-003.4N(B),	′ RA-002(B),					
ANJO BOLT HYD-026C (CIRRUS PN 31490-009)	Identification	finu .3	The state of the s		9110	T A
XLE NUT ECR-001(C)		Make	hel	ni.		4.7)
RAKE LINES AV-CIRR-001.1,			inU		Alteration	ilsqs
RAKE TEMP STICKER 300 DEGREES, 51698-004 RVICED TIRES TO 100 PSI	/As described	The state of the s	AME MANAGE	AIRFR	X	
LOT & COPILOT MASTER CYLINDERS MP-001.2N	(A)		TUALISE	Fiung		
ASHER RDL-010(A),	Called Called	- 4 - M <sup>-1</sup>		EARCH	-44-	
OM MASTER CYLINDER BRAKE LINES AV-CIRR-0 AKE LINES AV-CIRR-001.5 (1 EA) REGULATOR,	01.4 (1 EA),		ELLER	enua		Γ
OT MASTER CYLINDER TO COPILOTS MASTER OF THE PROPERTY OF THE P	ER BRAKE LINES AV-C	CIRR-001.7 (1 EA)		APPLI		
RAKE LINES AV-CIRR-001.2 FROM REGULATOR TO	O PARKING BRAKE VA	ALVE	2	nd Addres	inmenal/i s	Law Marie
STALLED MIL-PRF-87257 STICKER ON BRAKE RE	SIVIOR A beliffed 2 U	TX T	CION LLC	the commence of the commence of the contract of	Control of the Contro	The Property Continues
ANJO BOLTS HYD-003P AS NEEDED FOR BRAKE I USHED MIL-H-5606 BRAKE SYSTEM WITH MIL-PR ERFORMED CONDITIONING BREAK-IN PROCEDU ACED TPOH 15-14 WITH THE CHANGES FOR THI E MAINTENANCE AND OVERHAUL MANUAL MM-	LINE CONNECTIONS, RF-87257 (RED) BRAKE RES, CHECKED GOOD E BERINGER BRAKES	E FLUID, D & NO LEAKS. SYSTEM.	6 or alteranon made to th ance with the mapuli. <b>2'A</b>	ANGER 2 2 9 6 0 7 repair and	IER DR	TOW CENVI (certif)
ERIAN KEITH WEN		ing minutes ago.	The second section of the second section is an experience of the second section in the second section is	ans aura al	- STATE OF THE PERSON	
10 Ivaya agaza		6. 1.	. 2		rga fuet Part 43	
The second secon	r Retain to Service	The second secon	and the same of th	hoped.	an an one state of the same	3
nspected in the manner prescribed by the			hadingna on torsen or	- mani	-12.5	-
The second secon	[X] Approved	et bas a	on persons specifical Aviation Administration	arony grade Federal	Da son u soil to tot	i Incui istamb
[] Rejected	A STATE OF THE PARTY OF THE PAR		Manufacturer		AA I-I. Str	7
Rejected Persons Approved by Canadian Department of Transport	nedstanggiO sans	SERINGM				
L Rejected Persons Approved by Canadian	ance Organization on Authorization		Repair Station	Dan	rgiesC AAF	
L Rejected Persons Approved by Canadian Department of Transport				0.20	oli n	Picate Sanaso

of Transporta Federal Avia Administrati	on	(Airframe, F	NAMES AND ASSOCIATE OF THE PARTY OF THE PART	opel	ler, or Applianc	programme and the second problems of the	areration a l	For FAA Use Only The House SUOVEND HE HINV ENDING HE		
instructions	and disposon. (49 U.	sition of this form. S. C. §46301(a))	This report is required by	9.9, Par y law (	rt 43 Appendix B, and A0 49 U.S.C. §44701). Fail	C 43.9-1 (or sub ure to report ca	sequent revis n result in a ci	on thereof) for vil penalty for each		
17 1	Nationality USA	y and Registration M N855CD	ark 2811 AUU		Serial No.					
1. Aircraft	Make CIRRU	T XA IAW STO M	279AT -1965 WATT K		Model Way	사용하는 바람이는 그 경우가 되는 살이 있는데 나를 살아보니 하는데 모든데 그렇게 되는데 되었다. 그리고 있는데 나를 가지 않는데 나를 살아보니 그렇게 되었다.				
2. Owner	Name (As shown on registration certificate) BRADLEY BOWERS					Address (As shown on registration certificate) 110 LACHLAN DR. FORT MILL, SC 29715 USA				
				3. F	or FAA Use Only					
4. Тур	ne e			5. Ur	nit Identification					
Repair	Alteration	Unit	Make			Model		Serial No.		
	X	AIRFRAME			(As describ	ed in Item 1 al	bove)			
Vine type dentity		POWERPLANT				Yan Land				
- Contraction		PROPELLER								
1			Туре							
		APPLIANCE	Manufacturer				The Company of the Co			
DA CONTRACTOR OF THE CONTRACTO		APPLIANCE	Manutacturer	6. Cc	onformity Statement					
A. Agency's I	Name and		Manutacturer	1000	onformity Statement Kind of Agency					
1				В. І	Kind of Agency U. S. Certified Mechan		Manufac			
100 TOWE	DUNCAN R DR HA	Address AVIATION LL		В. І	Vind of Agency  U. S. Certified Mechan  Foreign Certified Mech	anic	Manufac C. Certificate BRIAN KE:	No.		
DOUGLAS : 100 TOWE GREENVIL USA	DUNCAN R DR HA LE SC 2	Address AVIATION LL NGER 6	С	B. F	Kind of Agency U. S. Certified Mechan Foreign Certified Mech Certified Repair Station Certified Maintenance	anic n Organization	C. Certificate BRIAN KE: 3178678	No. ITH WENDT		
DOUGLAS : 100 TOWE GREENVIL USA  D. I certify to have been	DUNCAN R DR HA LE SC 2 hat the repen made in	Address AVIATION LL NGER 6 9607 air and/or alteration	n made to the unit(s) iden	B. I	Kind of Agency  U. S. Certified Mechan Foreign Certified Mech Certified Repair Station	anic Organization oribed on the rev	C. Certificate BRIAN KE: 3178678  verse or attach	No. ITH WENDT		
OOUGLAS  100 TOWE GREENVIL USA  D. I certify thave been furnishe Extended range	DUNCAN R DR HA LE SC 2 hat the repen made in d herein is ge fuel	Address  AVIATION LL  NGER 6  9607  air and/or alteration accordance with the true and correct to	C made to the unit(s) ide	B. I	Vind of Agency U. S. Certified Mechan Foreign Certified Mech Certified Repair Station Certified Maintenance of the control of	anic Organization oribed on the rev	C. Certificate BRIAN KE: 3178678  verse or attach	No. TH WENDT Iments hereto Imation BRIAN KEITH WENDT		
DOUGLAS 100 TOWE GREENVIL USA  D. I certify to have been	DUNCAN R DR HA LE SC 2 hat the repen made in d herein is ge fuel	Address  AVIATION LL  NGER 6  9607  air and/or alteration accordance with the true and correct to	n made to the unit(s) idente requirements of Part of the best of my knowledgure/Date of Authorized Indiana.	B. I	Kind of Agency U. S. Certified Mechan Foreign Certified Mech Certified Repair Station Certified Maintenance (in item 5 above and describe U. S. Federal Aviation	anic Organization oribed on the rev	C. Certificate BRIAN KE: 3178678  verse or attach	No. TH WENDT  ments hereto  mation		
DOUGLAS  LOO TOWE  GREENVIL  USA  D. I certify the have been furnished  Extended ranger 14 CFR FApp. B  Pursuant to	DUNCAN R DR HA LE SC 2 hat the repen made in d herein is ge fuel eart 43	Address  AVIATION LL  INGER 6  9607  air and/or alteration accordance with the true and correct to  Signal  ority given persons	n made to the unit(s) identer requirements of Part of the best of my knowledge ture/Date of Authorized Indiana.	B. I	Vind of Agency U. S. Certified Mechan Foreign Certified Mech Certified Repair Station Certified Maintenance of the control of	anic  Organization  cribed on the rev Regulations an	C. Certificate BRIAN KE: 3178678 verse or attach d that the info	No. ITH WENDT Iments hereto Imation  BRIAN KEITH WENDT  16-May-2017		
DOUGLAS  100 TOWE GREENVIL USA  D. I certify to have been furnished Extended ranger 14 CFR FApp. B  Pursuant to Administrate	DUNCAN R DR HA LE SC 2 hat the repen made in d herein is ge fuel eart 43	Address  AVIATION LL  INGER 6  19607  air and/or alteration accordance with the true and correct to  Signal  Ority given persons Federal Aviation A	n made to the unit(s) idea the requirements of Part the best of my knowledge ture/Date of Anthorized Indi  7. Appr s specified below, the dministration and is	B. I	Vind of Agency U. S. Certified Mechan Foreign Certified Mechan Certified Repair Station Certified Maintenance of the U. S. Federal Aviation or Return to Service entified in item 5 was	inspected in the Rejected Persons Department	C. Certificate BRIAN KE: 3178678 verse or attach d that the info	No. ITH WENDT Iments hereto Imation  BRIAN KEITH WENDT  16-May-2017  escribed by the Imadian		
DOUGLAS  100 TOWE GREENVIL USA  D. I certify the have been furnished Extended ranger 14 CFR FApp. B  Pursuant to Administrate	DUNCAN R DR HA LE SC 2 that the repen made in d herein is ge fuel rart 43 the author of the fi AA Fit. Stand	Address  AVIATION LL  NGER 6 29607  air and/or alteration accordance with the true and correct to Signal ority given persons federal Aviation A lards  Man  Rep	n made to the unit(s) idented requirements of Part of the best of my knowledge ture/Date of Authorized Individual To Approximate Specified below, the identification and is	B. I	Vind of Agency U. S. Certified Mechan Foreign Certified Mech Certified Repair Station Certified Maintenance of the U. S. Federal Aviation or Return to Service entified in item 5 was X Approved	onic  Organization  Cribed on the revision Regulations and Inspected in the Rejected	C. Certificate BRIAN KE: 3178678 verse or attach d that the info	No. ITH WENDT Iments hereto Imation  BRIAN KEITH WENDT  16-May-2017  escribed by the Imadian		

Description of Work Accomplif more space is required, attack	olished	MAZON Follows long be	w (49 L) 5 C	t is required by la	This report	(mo) eid) lo rie	iliaogalb bris a	noltaud	
	in additional stree	S. Identity With airCraft II	auonamy and l	registration mark	N855C	(Introduces of	fay-16-201	-	
		1801	L	- Nationality and		75 7 7 5 T	St. ADEA	fistatiA	
EMOVED OLD LANDING LIG SM-500-082 REV R DATED 0 IRRUS KIT #LSM-500-082-19	7/07/16 OPS CH	ECKED GOOD FOR OF	STI STC #SA PERATION AN	02279AT -19 85 ND ALG=IGNME	WATT K	TX4 IAW STC	MANUAL	W Man - Garage	
		MATITEAL DE				Bussaid A		Dwner	
		29715 UBA							
		ise Only	3. For FAA U				The second secon		
			Militare Militario mensioni in conscioni con	g j		ondial "No	No construction of the second		
Serial No.		ication Nodel	5, Unit Identii	Make		linU	pe Alteration	4. Ty	
		(As described in Iter	Sagn	Direction of the second of the	No. of Bu	IRFRAME		I	
						OWERPLANT			
	-				-	TINACIONAL			
						ROPELLER	19		
					Type	70111100		-	
				urer	Manufect	PPLIANCE	A	.	
CONTRACTOR OF CALLS - NEWSCHOOLSEA		y Statement	6. Conformit)	The state of the second second second				- Constitution and traces	
	west 1	gency erbited Mechanic	B. Kund of A				Name and Ac	-	
lacturer ate No.	C Cerric	Certified Mechanic	Foreign		D.			WGLAS DUNCAN 10 TOWER DR HE	
TOWNW HTISO		I Repair Station Maintenance Organization	WITH STREET STREET, SALES AND ADDRESS OF THE PERSON NAMED IN			607	ILH SC 29	SENVILLE SC	
achments hereto	fire reverse or after one and that the in	above and described on ederal Aviation Regulation	of the U.S. F	ments of Part 43	епирет ег	scordance with the	en made in ac	have be	
BRIAN KEITH WEN			and the substitute of the same	of my knowledge Leathorized India				rteimish adad ran	
16-May-20				13/			mercury .	14 OFR B	
	Marine and all the second and		val for Refun			No. of particles are not	Committee of the contract of t	-	
en ad hadraasin	t in the manner	n item 5 was inspected proved	nt identified in	d below, the unition and is	epecifie dministrat	y given persons teral Avlation Ar	o the authority or of the Fed	suant to smistral	
ore to positional	ersons Approved b		ainterfance Org	M	facturer	ls Manu	AA FIL Slandard	1 1	
y Caradian	Separiment of Trans		Market Street Market Street Street Street Street Street		-				
y Čaradian	Specify)		spection Author	mi X	neits12 via	Repa	AA Dasignoo		
y Caradian				labal beshoribeA to			70	uficate o	

F-IM-008 - Rev A

## Weight / Balance & Equipment List Revision

## NexAir Avionics LLC - N4OR087B

265 Fruit Street

Mansfield, MA 02048 Tel: 508-339-7077

AC Tail #: N855CD

Register Name: BRADLEY BOWERS

Name 2:

Address 1: 110 LACHLAN DRIVE

Address 2:

City, State, PC FORT MILL, SC 29715-5833

A/C Make: CIRRUS

A/C Model: SR20 A/C Serial #: 1801

WO Ref #: 2915

WB Date: Oct-30-2015

Page #: 1

**WB ID#:** 59

Model #	Description	(LB/IN)	Weight	CG/Arm	Moment
Serial #	Part #	Previous data ->	2187.00	140.50	307263.00
REMOVED ITEMS					
ANTENNA 185937	M ANTENNA Ci 120-1 (SV)		-0.26	150.50	-39.13
ANTENNAS 185738	VHF ANTENNA CI 109 (SV)		-0.60	204.60	-122.76
BENDIX-KING 83728498	EGPWS KGP-560 TERRIAN 965-1198-085 (SV)	SYSTEM	-1.50	117.00	-175.50
ENCODERS 106662	A-30 ENCODER A-30 (SV)		-0.40	112.40	-44.96
GARMIN 97139853	GNS 430 NAV/COM/GPS #1 011-00280-10 (RD)		-5.00	121.00	-605.00
GARMIN 97140049	GNS 430 NAV/COMXGPS #2 011-00280-10 (RD)		-5.00	122.40	-612.00
GARŇIN 3728498	GTX 327 TRANSPONDER 011-00490-00 (SV)		-2.40	124.90	-299.7
ARMIN 5281042	GMA 340 AUDIO PANEL 011-00401-00 (SV)	Po .	-1.50	121.50	-182.
5ARMIN 59430830	GA 56 GPS ANTENNA 011-00134-00	33	-0.25	136.20	-34.
GARMIN 59430813	GA 56 GPS ANTENNA 011-00134-00	SE	-0.25	110.30	-27.5
S-TEC 0648-10814	STEC AUTOPILOT HEAD 01192-4-53-30P (SV)	Solo	-3.00	123.30	-369.9
REMOVED SUB TOTAL	11 Items @		-20.16	124.65	-2512.89
INSTALLED ITEMS					
ANTENNA 500574	WAAS GPS/XM COMBO AN CI 428-410		0.40	150.50	60.20
ANTENNA 497330	WAAS GPS/VHF COMBBO / CI 2580-200		0.60	206.60	123.96
ANTENNA 71393	DME/TXPD BLADE ANTENN CI 105	NA .	0.20	191.00	38.20
AVIDYNE M153268670	IFD540 NAV/COM/GPS #1 850-00182-000		6.75	121.00	816.75
AVIDYNE M153269036	IFD440 NAV/COM/GPS #2 850-00179-000		5.16	122.40	631.58
AVIDYNE 03999	AXP322 REMOTE TRANSPO 850-00222-000	ONDER	0.77	112.40	86.55
AVIDYNE 15360044	MLB 100 ADS-B RECIVER 850-00223-000		1.00	142.50	142.50
AVIDYNE M153571967	DFC90 AUTOPILOT HEAD 850-00170-000		2.02	123.30	249.07

F-IM-008 - Rev A -

## Weight / Balance & Equipment List Revision

Page #: 2

NexAir Avionics LLC - N4OR087B

265 Fruit Street

Mansfield, MA 02048 Tel: 508-339-7077

A/C Tail #: N855CD

Register Name: BRADLEY BOWERS

Name 2:

Address 1: 110 LACHLAN DRIVE

Address 2:

City, State, PC: FORT MILL, SC 29715-5833

A/C Make: CIRRUS

A/C Model: SR20

A/C Serial #: 1801 WO Ref #: 2915

WB Date: Oct-30-2015

WR ID # . 50

			1D#: 59	
AVIDYNE B01205	AMX240 AUDIO PANEL 850-00218-001	1.40	121.50	170.10
ENCODERS SRN20208	TRANSCAL ENCODER SSD120-30N-RS232	0.40	112.40	44.96
INSTALLED SUB TOTAL	10 Items @	18.70	126.41	2363.87
NEW DATA >>	NEW USEFUL LOAD = 814.46	2185.54	140.52	307113 98

307113.98 IT IS THE RESPONSIBILITY OF THE PILOT IN COMMAND TO ENSURE THAT THE AIRCRAFT IS PROPERLY LOADED USING THE ABOVE WEIGHT AND BALANCE DATA AND THE OWNER'S MANUAL LOADING CHARTS.

Authorized Individual: N4OR087B ANDREW O'SHEA

# Weight / Balance & Equipment List Revision

Page #: 1

NexAir Avionics LLC - N4OR087B

246 SOUTH MEADOW ROAD, GATE 6, HANGAR SW-1 PLYMOUTH, MA 02360 Tel: 508-339-7077

A/C Tail #: N855CD

Register Name: BRADLEY BOWERS

Name 2:

Address 1: 110 LACHLAN DRIVE

Address 2:

City, State, PC: FORT MILL, SC 29715-5833

A/C Make: CIRRUS

A/C Model: SR20

A/C Serial #: 1801 WO Ref #: 5516

WB Date: Feb-11-2019

**WB ID#:** 375

Previous data taken from document dated Oct-30-2015 Previous useful load = 814.46

Model # Serial #	Description Part #	(LB/IN Previous data ->		CG/Arm	Moment
REMOVED ITEMS		Flevious data ->	2185.54	140.52	307113.98
AVIDYNE M153268670	IFD540, 10W, BLK BEZ, (W/ 850-00182-000	INST KIT)	-6.75	121.00	-816.75
REMOVED SUB TOTAL	1 Item @		-6.75	121.00	-816.75
INSTALLED ITEMS IFD550 M184841555	IFD550, 10W, GPS/NAV/COI 850-00182-020	M/WIFI/BT/FL	7.15	121.00	865.15
INSTALLED SUB TOTAL	1 Item @		7.15	121.00	865.15
NEW DATA >>	NEW USEFUL LOAD = 814.0		2185.94	140.52	307162.38

Authorized Individual: N4OR087B MICHAEL REARICK



Serial Number:

1801

Registration Number:

N855CD

**Basic Empty Weight:** 

2187 lb

Total Moment/1000:

307.263

Center of Gravity:

F.S.140.5 or 15.7 MAC

Parachute Canopy Color:

Orange / White



The following pages list required, standard, and optional equipment, as well as gives the weight and arm of each listed item. This listing represents the airplane and all options available at the time of delivery and does not include any equipment installed after delivery.





Not all optional equipment in this listing was installed in the above serial number airplane. Equipment listed as optional but not installed in the airplane is indicated by a hyphen (-) in the quantity column for that piece of equipment.



Each item in the listing is provided a unique number. The first two digits of the number represent the ATA or GAMA Chapter reference number. These numbers are used industry wide and in the Cirrus Design SR20 Maintenance Documentation to locate items in the Maintenance Manuals and or Parts Catalogs. The two digits following the hyphen are sequence numbers for each item in that chapter.



1 of 6